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1. What do you mean by political theory?
Discuss its relevance. 3+7=10
AT O T 6 J& 2 TN APREFS] S
J901

Or / 9241
What is conservatism? Discuss its basic
elements. 3+7=10
FHINTRM e 52 B 51 TAMEPHE. SCEbl
J901
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2. Critically discuss Marx’s view on State.

T qE-TAFR QRO AN ST D]
AL |

Or / 9471

What is post-modernism? Explain the
differences between modernism and post-

modernism. 5+5=

Teg-HYfForm e 52 wigfrerm o Tee-
SYAFSAIT A& #M1< T < |

3. Define feminism. Critically discuss the liberal

theory of feminism. 3+7=

TR RS i TR TwReRm e
STICETO=IETR FTRIT SSICIET |

Or / 341
What do you mean by feminism? Discuss the

various waves leading to the growth of
feminism.

TRRm e & e 2 T [emE [iew s/ e
SICE 41 |

4. What is participatory democracy? Discuss
the relationship between participation and
representation.
SHTRAFI SlTEF W [P 2 WK Wi aAfefiaga
S 7 S I |
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(3) (4)

Or / 9241 (e) Laissez-faire
What do you mean by direct democracy? Il -FroFM
Discuss the methods of direct democracy.
3+7=10 (f) Differences between Normative
oo SR W @17 e T "I%hITWPiQ Approach and Empirical Approach
SICES 54 | e yiges we Sfveedm EeRe WMo
12/

6. Answer any five of the following very briefly :
5. Write short notes on any four of the 2x5=10
following : 5x4=20 woTe fapRd & (e #fivbe ot 53 Teq fr
@S WP & CIC! SIRGR 5 (BTl forel

(a) Name two supporters of Neo-Marxism.

(a) Post-Behaviouralism T - T 2SN B2 1
Teq-SHeR_M
(b) Write two demerits of historical
(b) Features of Liberalism approach.
THITSRMA (IS5 afszre §§©§§ @T g feram |
(c) Differences between Behavioural (c) Write two merits of proportional
Approach and Traditional Approach representation.
S6eEm TiEe o At 7fEeRe qes acen STHIefes efefig “mies 751 89 fere |
(d) Revival of Political Theory (d) Write two features of classical
AT TG R democracy.
O<p \©
ST aIToF Yol CariEy fere |
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(S) (6)

(e) Define eco-feminism. (d) is a protest movement in Political

. Science.
[ MREAmE e Wl | ( Fill in the blank )

qEafe Eee fSege ot Tor @b

(f) Write two causes for the growth of =
/RS S |

behaviouralism.

TSR BT 51 Sl 4 | (<R 9f2 = ¥ )
(e) Who developed the concept of ‘credo of

(g) Write two demerits of Marxism.
relevance’?

A Y51 SR e |
. “TgT ePTRfeIeel” QR TS (I 2
7. Answer the following as directed : 1x10=10 () Mention one difference between sex and
~ ~ ender.
oS AR cw= HNe1lq ©eq I &
“Politics | thoritati locati ; taf® el (sex) o feral (gender)d We™
(@) onci is au .orlalve allocation o <51 “11efa TeEd |
values.” Who said?
eAle 27T O FEPITN [0 | (g) Robert Nozick is associated with Neo-
(e (fee 2 Marxism / Neo-liberalism / Anarchism.
( Choose the correct option )
(b) Who is .the au‘Fhor of the book, The @ A wve =W ww-NEEmE / wT69w-
Communist Manifesto ? TSR [/ (AT 9T |
The Communist Manifesto 29 (E4F (% Recr A Tferear )
(I ?
(h) Which century is regarded as the
(c) Who is regarded as the father of ‘golden age’ of democracy?
ism?
anarchism: oeTeTE TN v T DT e R
(FreTe PEIRmS Careame forg fer cprar 272 =79
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(7))

(i) Write the full form of AFSPA.
AFSPAT 5 S#[Co1 fer<l |

() “The State is not abolished, it withers

away.” Who said?

““The State is not abolished, it withers
away.”’ (1 (e ?
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